ApBuntiki A’ f'upvaociou https://blogs.sch.gr/l_vlachaki/

APIOMHTIKEZ NAPAZTAZEIZ

AZKH3H 1

Na KAVETE TLG PAEELG:

a) (+2) +(+7) +(+5) +(+14) = B)(-7)+(-5) +(-10) +(-3) +(-7) = @(D@@

1

V)(+7)+(+5) +(+8)+(+3)+(-1) = 6)(-8)+(-6) +(-9)+(-2)+(-7) =

AZKHZH 2
Na KAVETE TIG MPALELC:

o)(+2)+(-7) +(-5) +(+14) = B)(-7)+(-5) +(+10)+(+3)+(-8) =

V)(+7)+(-5) +(-8)+(+3)+(-1) = 8)(+8)+(-6) +(+9)+(+2)+(-7) =
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AZKHZH 3
Na KAVETE TLG TPAEELG:
a)(+2)+(-7) -(-5) -(+14) = B)(-7)-(-5) +(+10) +(+3)-(+8) =

OO

2

V)-(+7)+(-5) -(-8)+(+3)+(-1) = 8)(+8)-(-6) +(+9)+(+2)+(-7) =
€)(+9)+(-5)- (-8)-(+6)+(-1) = ot) (+10)+(-8) +(-9)-(-4)+(-7) =
0)(+8)+(-5)-(-2)-(+6)-(-1) = n)(+9)+(-8) +(-9)-(-4)+(-3) =
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